Daewoo Lspero,

(rok prod. 1995-1997) e

BIZUB

Zestaw Srubowy:
M12X70 2 szt.
M10X90 2 sz,
M10X90 M10X90 M10X90 ampulowe 4 szt
Amputowe Podkladki:
Fi10X30 6 szt.
Fi10 6 szt.
Fi12 2szt.
Sprezyndwki:
Fi12  2szt.
Fi10 6 szt.
Nakretki:

M10 6 szt.
M12 2 szt.

\ Tulejki:
Fi18X60 6 szt.

Fi18X60

M10X90 M10X90
Amputowe

AN

M12X70 Fi18X60

Moment skrecajacy dla $rub i nakretek M8 25Nm; M10 55Nm; M12 85Nm; M14 135Nm ;M16 195Nm.




